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1. Find the given Laplace transform L[te ™ cos(3t)] .(10)

-4 0<t<1
2. Findthegiven Laplacetransform L[ f(t)] where f(t)=4 0 1<t<3 . (10)
e' t>3

3. Findthegiveninverse Laplacetransform L™ 252_ 1 . (10)
| (s+1)(s" —4s+3)

1

4. Find the given inverse Laplace transform L™ —
| S(s—4)

}. (10)

5. Usethe Laplace transform to solve the following given initial value problem.
y'-5y'+6y=e", y(0)=0, y(0)=2 (20)

6. Usethe Laplace transform to solve the following given initial value problem.
y'-2y'-3y=g(), y(0=L y(©0)=0 (20)

(t) = 0 0<t<«4
W11 (54

7. Usethe Laplace transform to solve the following given initial value problem.
y'-16y=125(t—- ), y(0)=3, y'(0)=0 (20)

8. Usethe Laplace transform to determine f(t) such that
f(t) = 2t +j; f(t—7)e"dr. (20)

(Hint: Convolution Theorem: L[ f*g]=L[f]L[g]. )
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Table of Laplace Transform

f(t) F(s)=L[f()]
1 1/s

t 1/s°

t" nl/s™?

et 1/(s-a)
sin(at) al(s+&)
cos(at) d(s+&)
sinh(at) al(s*-&)
cosh(at) J(s*-&)
5(t-a) e®

af (t)+bg(t) aF(s)+bG(s)
(1) sH(s)-f(0)
f(t) S'F(s)-s*(0)-...-fD(0)
t"f (1) -D"F"(s)
e™f(t) F(s-a)
f(t-a)H(t-a) e F(s)
f(t+T)=f(t) — et




